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DIFFERENTIATION UNDER INTEGRAL SIGN

e Many a times we use the standard rules of integral calculus for evaluating some of the
definite integrals.

e However, in certain cases where the standard rules do not work, the concept of
differentiation under integral sign is used for evaluation of some of the definite
integrals.

If the function under integral sign satisfies certain conditions, then we can differentiate
the given function under the integral sign and from the resulting function we can
obtain the required integral.

This is known as differentiation under integral sign abbreviated as D.U.I.S.
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